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el SESA S8 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 119,000
=S 15,300
308 XtXIEMSO0IH 134,300 134,300 0
= 119,000
== 15,300
01 XN BSELES 134,300 134,300 0
Os& =8 HEsd XNE 134,300
= 119,000
& 16,300
sE Ss0ts 28 MY 3,510,000 0 3,510,000
= 2,700,000
= 810,000
403 THXISHMSAH=01H 3,510,000 0 3,510,000
= 2,700,000
=S 810,000
01 AXISHHA =2 & 3,510,000 0 3,510,000
sE& =502 ZEMY 3,510,000
= 2,700,000
[ 810,000
sl 54 7,265,500 5,745,450 1,520,050
= 6,233,000
= 1,032,500
SHsu=s N 72,000 62,550 9,450
= 40,000
= 32,000
307 elztol & 72,000 62,550 9,450
= 40,000
s 32,000
02 2B YA HE X 72,000 62,550 9,450
ORA=sg3ge uUs 72,000
= 40,000
[ 32,000
sZHE W dsd A3AY 474,000 0 474,000
= 420,000
= 54,000
403 AXIEHHSAH=201H 474,000 0 474,000
= 420,000
= 54,000
01 AR A =2 £ 474,000 0 474,000
OsgHsty Adsd X2 474,000
= 420,000
== 54,000
SN g2 140,000 70,000 70,000
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el ddsgel 54 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Old=seldy 2¢ K& 408,000
Oltet? fd=sgel 2208 K& 45,000
403 AXIEHMSA=Z01d 54,000 44,700 9,300
01 MHXIHHA 222 54,000 44,700 9,300
Os&g &8 a8 ot&3d 4X 54,000
Hedsgol HEgdst 370,000 418,000 48,000
201 223 30,000 50,000 /20,000
03 A2 I 30,000 50,000 /20,000
O04d=gel Agda /38 30,000
301 EtE NS 250,000 260,000 10,000
08 212+91=2|044| 240,000 240,000 0
ONd=sel Hedst 240,000
11 #AIAHIXIZ S 10,000 20,000 10,000
ONd=sel HEds s 10,000
308 AFAIEHMSOIE 90,000 90,000
01 AXEH B EES 90,000 90,000
O0d=gel dEdst us 90,000
sSAE2d & 2el2g 2,278,038 1,832,213 445,825
= 445,000
Il 1,801,538
= 31,500
sXizel & sEX9HE S FHAY |4 22,500 21,675 825
201 2= 7,500 7,225 275
01 AtR2t2lt] 7,500 7,225 275
sN=2d8 & 2el2d 7,500
202 04l 15,000 14,450 550
01 =LHAHI 15,000 14,450 550
SEXNSHE 15,000
sXO0ISAE) A QI2H| K& 1,810,538 1,810,538 0
Jl 1,801,538
= 9,000
101 21AH| 27,000 27,000 0
Jl 18,900
= 8,100
M ORNZZ2NSE S 27,000 27,000 0
OsXolE2cl X 27,000
Jl 18,900
=S 8,100
201 Ler=23 | 3,000 3,000 0
) 2,100
= 900
01 AtR2t2|HI 3,000 3,000 0
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el sN2Ed & 22l2Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OsAols2elX& 3,000
Jl 2,100
== 900
308 AHAIEMSOIE 1,780,538 1,780,538 0
Il 1,780,538
01 XN BELES 1,780,538 1,780,538 0
OsAlolsael X 1,780,538
Jl 1,780,538
sgRidt=z & 2M22 XS 445,000 0 445,000
= 445,000
308 AHXIEMSOIE 445,000 0 445,000
= 445,000
01 XN B2 LS 445,000 0 445,000
Osgritgd= & 22N 445,000
= 445,000
SEX S 73,422,000 53,347,000 20,075,000
= 54,209,000
== 19,213,000
B <=0 & (KIXEA) 54,209,000 43,245,000 10,964,000
= 54,209,000
402 2I2E X201 & 47,209,000 40,125,000 7,084,000
= 47,209,000
02 QI AHZ AL E R (01X THE) 47,209,000 40,125,000 7,084,000
Obl==IH e (BI2HE ) 47,209,000
= 47,209,000
403 MR HHMSAHE01H 7,000,000 3,120,000 3,880,000
= 7,000,000
01 XXM A=E X 7,000,000 3,120,000 3,880,000
Obi==IH& (XIREA) 7,000,000
= 7,000,000
SEEE SUEST HEAMY 500,000 25,500 474,500
403 AXIEHHSAH=201H 500,000 25,500 474,500
01 XIS A =2 500,000 25,500 474,500
OU 8 sgEs=E 500,000
SIIBEH(HREZXFel) (HEAI) 4,472,000 3,440,000 1,032,000
403 AXIEHMSAH=0lH 4,472,000 3,440,000 1,032,000
01 A= 2L 4,472,000 3,440,000 1,032,000
ou-& dxdel 4,472,000
SIIEHEHI (=2l AIEHE ) (M EAL) 4,680,000 3,600,000 1,080,000
403 AXIEHMSA=Z01H 4,680,000 3,600,000 1,080,000
01 MXIHHA 22 4,680,000 3,600,000 1,080,000
OAlZ #=clAlE HE= 4,680,000
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Rl SEXSNY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHIBHEH| (A A2 00 ) (B EHALY) 2,600,000 2,000,000 600,000
403 X SHHMSAH=01H 2,600,000 2,000,000 600,000
01 AXISHHA =22 & 2,600,000 2,000,000 600,000
OLE2 Bz 2,600,000
SIS EHI(LDBHEH) (M EALY) 172,000 172,000
403 MR EHSAHE01H 172,000 172,000
01 MXIHHA 22X 172,000 172,000
gl ol 172,000
A2 SENLAE 6,679,500 864,500 5,815,000
403 AXIEHHSAH=201H 6,679,500 864,500 5,815,000
01 AXIEHM A= 2 £ 6,679,500 864,500 5,815,000
OAAE SESMHLAE 6,679,500
SAUMAD|BIAIE HES(Z2IFA) 109,500 0 109,500
403 AXIEHMSAH=0lH 109,500 0 109,500
01 A= 2L 109,500 0 109,500
OXXICH 02 THOHOIZ AL (=RIEO) 84,000
OMcHots st AtAlel =2 HBIAM(
CREA) 15,000
OMciogs st 2822 =2 FolIA(
CRIEN) 10,500
SSIIEAIE =5 30,515,000 31,287,375 AT72,375
= 24,588,000
< 5,927,000
N Y 2| S M2 5= 16,178,000 19,257,000 /3,079,000
= 16,178,000
402 BIZtAH=01A 16,178,000 19,257,000 A3,079,000
= 16,178,000
02 RIENEASEZ(0IETHR) 16,178,000 19,257,000 A3,079,000
O=It2AclY XM HE* 16,178,000
= 16,178,000
SR L2/ S RN Es=(AIZXHE) 5,437,000 4,223,375 1,213,625
= 3,610,000
= 1,827,000
403 AXIEHHSAH=01d 5,437,000 4,223,375 1,213,625
= 3,610,000
= 1,827,000
01 AXISHHA2EE 5,437,000 4,223,375 1,213,625
O=Jt2elg =M HE+ 1,000,000
= 1,000,000
OXlg2e XM HE > 4,437,000
= 2,610,000
= 1,827,000
St THHIE4=I1e 5,400,000 5,400,000 0
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M =PI HY Ast
Bel: SYIIBAIL &5 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 4,800,000
= 600,000
403 XX SHHS K201 5,400,000 5,400,000 0
= 4,800,000
= 600,000
01 AXISHAE2ER 5,400,000 5,400,000 0
Oste iyl =0 5,400,000
= 4,800,000
= 600,000
3= sgEHeg 1,500,000 1,075,000 425,000
403 X HMS 201 1,500,000 1,075,000 425,000
01 MHXISHHEER 1,500,000 1,075,000 425,000
OJI283=2 g8 Y 1,500,000
CERE MR AIESZAY 2,000,000 1,332,000 668,000
403 XX SHMSAHE01 ™ 2,000,000 1,332,000 668,000
01 MRSt AH22 £ 2,000,000 1,332,000 668,000
OFEM=Xl AESZAE FLEZ 2 D)
s8BZ 2,000,000
NBE sih= MaD|gt 2= 62,363,800 60,820,300 1,543,500
= 1,450,000
= 60,913,800
AZO| OFEZA MALD|BH F 62,363,800 60,820,300 1,543,500
= 1,450,000
= 60,913,800
SHAKRAE 4 22 2,116,800 2,116,800 0
308 REXIHMSOIH 2,116,800 2,116,800
01 IXSHHBAEERS 2,116,800 2,116,800
Os&™INAH 54 - 24 2,116,800
SENZIHXIAALS 1,651,500 676,000 975,500
= 1,255,000
& 39%,500
201 B2 AL| 20,000 20,000
01 ArR22ltl 20,000 20,000
O=&Edg 843t 20,000
308 AXISHMSOIN 1,631,500 676,000 955,500
= 1,255,000
= 376,500
01 X SHHBAEERS 1,631,500 676,000 955,500
OsEESMUH(sEE) 676,000
= 520,000
& 156,000
Os&EESHEE(S3E) 955,500
= 735,000
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33 IFE sits dabje 5
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| & 220,500
SYZZ2L JI=AF A 253,500 975,000 AT721,500
= 195,000
= 58,500
403 THXI M SAH=01H 253,500 975,000 AT721,500
= 195,000
=S 58,500
01 XIS A =2 & 253,500 975,000 721,500
OsSYZZ2A JI=AH A8 253,500
= 195,000
< 58,500
=QAHEZZ2A AIEH 450,000 364,500 85,500
201 fer= 3| 120,000 0 120,000
01 AtR2tc|HI 120,000 0 120,000
OL=¢el HEIZZXN 2P SAXH 23 120,000
308 AFAIEHMSOIE 330,000 364,500 234,500
01 RSN B EES 330,000 364,500 234,500
O2=0 HEZZ2A 18&d HAXIE 330,000
STEE s02 =g X& 56,172,000 56,168,000 4,000
201 er23| 22,000 18,000 4,000
2 s5=34l 22,000 18,000 4,000
OFFER s0isg N2YR AAE =
Xl 22,000
308 AHAIEHMSOIE 56,150,000 56,150,000
01 HAHHBSEXRS 56,150,000 56,150,000
OsdER s0u=g Xd 56,150,000
STET s0==g dFH| X2 520,000 520,000
308 XXM SOIA 520,000 520,000
01 XN B2 LS 520,000 520,000
O&dg: s+ &34l K& 520,000
nE2&=sgel S0l g4zt 1,200,000 0 1,200,000
308 AXIHSOIA 1,200,000 1,200,000
01 XN BSELES 1,200,000 1,200,000
Olg28 sl sh0lY gdat 1,200,000
HY2EHH (=S H2m) 95,080 72,811 22,269
2t (sgE ) 95,080 72,811 22,269
JlE2Ztl(sgd ) 95,080 72,811 22,269
201 er23| 41,400 32,300 9,100
01 At2tltl 41,400 32,300 9,100
O=sgds g2Fa 41,400
202 04t 39,100 31,331 7,769
01 =LHOHI 39,100 31,331 7,769
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